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ÒÔÓ�X�ÆNVÈTWVYXlÕ Ç
Ö�×­Ø�Ù

x ∈ R ÚUÛ³Ü Ù7Ý/ÞàßáØ�â³Ý/Þäã�Ý�Þ�å'æ­×Yâ Û Ý�ç/×YâÈè­Ý/Þ7é­Ý/â³ç�Ý R Û Ý%ã�åëê Ü ÞàØ�Ý Û ÝvÙ7Ý/Þ7ßìÝ�é Ü â Ü Þ�å­ã
un(x) =

n3 + 5n + 3

n!
xn í

î¹å­ã�ç/ï³ã�Ý/ÞðÝ�â³ê7ï³ØHÙ�Ý Úbñ ×Yï�Þ¹Ù�×Yï�Ù x ∈] − R, +R[ Ú S(x) =

+∞
∑

n=0

un(x).

ÒÔÓ�X�ÆNVÈTWVYX%[ Ç
òóâìâ³×­Ù�Ý

f
ãôåÔõ	×Yâ³ç?Ù�Ø�×Yâ

2π ö@ñEÜ ÞàØ�× Û Ø�÷�ï³ÝzÝ�ÙUØ�ß ñ å­Ø�Þ7Ý ÚøÛ³Ü�ù â³Ø�Ý ñ ×Yï³Þ x ∈]0, π[ ñ å­Þ f(x) = 1 íú íüû ×­â³â³Ý/Þ�ï³â�Ý�ÞàÝ ñ Þ Ü ê7Ý�âÈÙýåøÙ7Ø�×Yâ�éYÞ�å ñ³þ Ø�÷�ï³Ý Û Ý f íÿ í î¹å­ã�ç/ï³ã�Ý/Þðã�å�ê Ü ÞàØ�Ý Û Ý��������	��
�� Û Ý f í

 í�� â Û³Ü/Û ï�Ø�Þ7Ý

+∞
∑

p=0

(−1)p

2p + 1
í
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I1 =

∫

+∞

0

e−x

√
x

dx , I2 =

∫

+∞

0

√
x sin(1/x2)

ln(1 + x)
dx .
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D = {(x, y) ∈ (R+)2 / x2 + y2 > 0 } í
� ×­â�Ù7Þ7Ý�Þ%÷�ï³Ý ∫

D

1
√

x2 + y2(1 + x2 + y2)
dxdy

Ý�êàÙ ç�×YâÈèYÝ�Þ7éYÝ�â�Ù7Ý�Ý�Ù%Ý/â Û³Ü/Û ï�Ø�Þ7Ýë÷�ï³Ý
∫

D

1

(x + y)(1 + x2 + y2)
dxdy
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